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Paper 11
(ANTHROPOLOGY)
1. Who discovered rock paintings in India and 1. & SR 7 ¢t oIS 3@ 8 el
convincingly argued for its stone age antiquity? ABIYNT ABITC FA 0T 2
(A) V.N. Misra (A) fo. 9. N
(B) V.S. Wakankar (B) f%. @1, eI
(C) A.C.L.Carlleyle (C) «. B1. a1, Ttz
(D) M. C. Burkitt (D) @3, Bi. IS
2. Which of the following is a single cultural site? 2. e @b 9 ‘w‘ﬁ@%ﬁ CFa e
(A) Chirand (A) Poam
(B) Mahagara (B) TRairet
(C) Chopanimando (C) cHl=iifersoes
(D) Koldihwa (D) e
3. Facetted striking platform is associated with 3. (T A& A 2[ETHI0] AL T ?
which technique? (A) 3T 9 IF
(A) Block on block (B) sIwHITIT
(B) Clactonian (C) GTeFERER
(C) Levalloisian
(D) Grinding and Polishing (D) afRfex © ~fefk
4. Where was the evidence of practice of horse 4. S S 2T AE @A ILIGICK:
sacrifice seen? (A) F=fI
(A) Brahma Giri (B) ?lT‘ﬂTGiWT@T
(B) Nagarjunakonda ©) s
(C) Vidarbha D) (11
(D) Porkalam
5. The first large-scale and effective use iron in 5. &9 H(’{al%ﬂ A CIRCS 2L 2y AR @R
India is associated with which culture? QAR € PR AR (=l TR 2
(A) Painted Grey Ware (PGW) (A) (7305 (& €7 (PGW)
(B) Northern Black Polished Ware (NBP) (B) =Wie 1< 9{%{,@ @17 (NBP)
(C) Black and Red Ware (BRW) (C) TT OIS (7T &1 (BRW)
(D) Harappan (D) =R
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6. Incipient stage of food production was seen
during which culture?

(A) Anyathian
(B) Maglamosean
(C) Natufian

(D) Aurignacian

7. Which of the following is directly related to
stone tool analysis?

(A) Pedology

(B) Petrology

(C) Sedimentology
(D) Seismology

8. What is a datum point?
(A) An artifact that can be dated
(B) The singular form of archaeological data

(C) The starting point from where
archaeological data collection begins

(D) Thereference point for grid systemin field
archaeology

9. Binford’s work on the Nunamiut Eskimos is an
example of

(A) Cognitive Archaeology
(B) Ethno Archaeology
(C) Symbolic Archaeology
(D) Cultural Ecology

10. What is a pile of refuse, often shells, found in
some archaeological sites known as?

(A) Debitage

(B) Debris

(C) Litter

(D) Kitchen midden

X-4

6. <A TAMETT QTN Wl (S AeFfore (=il
R ?
(A) SRR
(B) SHloIETCRRIE
(C) wiGfFe
(D) SifFs=PEe

7. SRAIPH REAACR A (@ADL AT & 2
(A) (oTTlEfe
(B) (AG@e
(C) GISEITETS
(D) Frse

8. (THIN TS 2
(A) 936 IBAND T FATT 7SS
(B) [3elgs ©1ed U5 S

(C) @36 ol I @A (AT sFrofes o2
HEZ G Y

(D) (w9 7Jarerg 4fb =1 fole Piesee @i p
f

9. HIfES wiFeioR M Receiss e 2= a9

TRl of
(A) TR 7ATeG
(B) e Al @l Sffesfe
(C) STt sjareg At Pregifers wiffeste
(D) AFeT TEoF

10. I @I ATl GFiq Y TS REAI-93 g
T W R cdeme A, aft i i e
A) R
(B) cefar
(C) Fioig
(D) T fites



11. Which of the following points show a
ripple-like appearance as aresult of controlled flaking?

(A) Gravettian Point

(B) Hamburgian Point
(C) Ahrensburgian Point
(D) Solutrean Leaf Point

12. Levalloisian technique is also known as
(A) Bipolar technique
(B) Core rejuvenation technique
(C) Indirect Percussion technique
(D) Prepared Core technique

13. Which of the following is a Neolithic Tool?
(A) Ringstone
(B) Lunate
(C) Scraper
(D) Burin

14. Which of the following are Lower Palaeolithic
sites in India?

(i) Chirand

(i1) Chauntra

(iii)) Didwana

(iv) Vadamadurai
Codes:
(A) (i), (iii) and (iv) are correct.
(B) (i1), (iii) and (iv) are correct.
(C) (i) and (ii) are correct.

(D) (ii) and (iv) are correct.

15. In cylindrical hammer technique, the hammer
used is made of

(1) Bone
(i1) Stone
(iii) Iron
(iv) Wood
Codes:
(A) (i), (i1) and (iv) are correct.
(B) (1), (i11) and (iv) are correct.
(C) (i) and (ii) are correct.

(D) (i) and (iv) are correct.

X-5 26-11

11. SafEe ==@ma wogmet ke @ wo-ag
TAT (BT A @A (7l 2

(A) arfefoam «@S

(B) = #iczs
(C) SRR &S
(D) Fiee fore s

12. GTEFRPEN “afe o= @ Fie #iffbe ©f 25
(A) IR awls
(B) (&7 Rt simfe
(C) TS A *1mfo
(D) femIe @R mfe

13. e @A @i FUeET Yool SFL 2
(A) &z oo
(B) s[To
(C) FIeta
(D) qfet

14. feEa @Rl simees Wy 2J=igws o cFa 2
(i) foam
(i) oIt
(iii) Twcarzi=
(iv) em=mEE
(TS
A) (), (iii) € (iv) 7F
B) (ii), (iii) € (iv) 7=
(©) ()€ (ii) o=
(D) (i) @ (iv) ABF

15. Fiferelz giw Amfocs, @ 2ol a1 g a<eE

(i) =iz

(i) &=4

(iii) =l

(iv) S

(P 8
(A) (@), (ii) € (iv) A
B) @), (iii) € (iv) 7=
(©) (i) e (i) Afo=
(D) (i) € (iv) A
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16. Arrange the following sites in order of their
location from North to South:
(i) Inamgaon
(i1) Burzahom
(iii) Paisra
(iv) Renigunta
Codes:
(A) @), (i), (i), (Qv)
(B) (i), (iiD), (1), (iv)
(©) (D), (v), (i), (1)
D) (v), (iid), (i), (i)

17. Arrange the following sites chronologically
according to the culture they represent :

(1) Kot Diji
(i) Gufkarl
(iii)) Bagor
(iv) Nevasa
Codes:
(A) (), (D), (iiD), (iv)
(B) (@), (@), (iii), (iv)
(©) (ib), (iD), (v), (i)
(D) (v), (ii1), (1d), (1)

18. Arrange the following in its correct order of
activity:
(i) Horizontal excavation

(i) Drawing stratigraphic sections

(iii)) Foot survey

(iv) Site testing
Codes:
(A) (D), (), (iiD), (iv)
(B) (i), (), (iv), (iii)
(©) (D), (v), (1), (i1)
D) (@v), (in), (iii), (i)

X-6
16. & (AF U SR S Eleie craslhe
ARSI Afeero e ¢
(i) Z=Iehe
(i) IR
(i) =M=
(iv) @S
(PG ¢
(A) (1), (1), (ii1), (iv)
(B) (ib), (iid), (i), (iv)
(C) (ii), (iv), (i1), (i)
(D) (iv), (i), (i1), (1)

17. fasfiie crawin @cgon efefing s el
ST G SPAICE A 2

(i) G ofe

(ii) wTPR

(iii) A=

(iv) ™
(T3
A) (D), (ib), (iii), (iv)
(B) (i), (i), (iii), (iv)
(C) (iii), (i), (v), (1)
(D) (iv), (iii), (ii), (i)

18. fICHa 5 ARefer o1 (A A6F T S
e &
() SNThE BeLea
(i) T-BAfHIP o=
(iii) I @G AT
(iv) C%a A (A5 GFHR)
(T
(A) (1), (i), (ii1), (iv)
(B) (i), (i), (iv), (ii1)
(C) (i), (iv), (1), (ii)
(D) (iv), (ib), (ii1), (1)




19. Match the items of List I with those of List II:
List 1 List I1
(a) H. de Terra and (i) Prehistory and
T.T. Paterson Protohistory of
India and Pakistan
(i1) The culture and
civilization of
Ancient India
(iii) Studies on the Ice
Age in India and
associated human
cultures

(iv) The Personality of

(b) D.D.Kosambi

(c) B. Subbarao

(d) H.D.Sankalia

India
Codes:
@ () (o (d)
A » G ai) o (@Gv)
B) Gy (@ G 3(v)
(©) (u) (1) (@1v) (1)
D) av) @® (@) (i)

20. Match the items of List I with those of List II:
List 1 List Il

(a) Dendrochronology (1) Pot sherds

(b) Radio-carbon (i1) Volcanic rocks

(c) Thernoluminescence (iii) Tree ring

(d) Potassium-argon (iv) Animal bones

Codes:

@ () (o (d)
A @ @) @)  (v)
B) () () @) (iv)
(©) @) Gv) (@) (i1)
D) av) (@© @) (i)

X-7

19. Ol @3 A
©Iferer-
(a) «@2p. & Gaie .
SRERC!

(b) fo. fe. R

(c) . ==

(d) 93p. To. AR

(T3

(@ (b
A @ )
B) Gi) (@)
(©) Gii) (i)
D) Gv) ®

26-11
ORI & (T ¢
e
(i) fafBf ag
(ARG o=
31T A
(ii) @ SEBR By
Hrfesizea o=
SIPIETS 3few
(i) 5Ifee o= v =1i%
OG 31 S SIS
SHAIEGS
1 IO
(iv) W ACAEH o=
e

.

()
(i)
(iii)
(iv)
(iii)

(d)
@iv)
(iv)
@)
(ii)

20. Ol O3 AT Ol (& (e ¢

©Iferm-1 eIl
(a) (TTCGICGIIEAS (i) %GR
(b) @fGe-F (i) SNcaRfalfeTse owg
(c) ARFRE™ (i) B
(d) =BifE-=TsfT (iv) 2=z
(T
@ () (o (d)
A) () G @G @[Gv)
(B) (i) Gi) G (v)
(©) (i) (v) (@) (ii)
(D) Gv) (1) (i) (ii)
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21. Given below are two statements, one is labelled
as Assertion (A) and the otheris labelled as Reason (R):

X-8

21. fex 6 Te7y TQI0E, 97 93 [0 (A) BET
iz, w=ial Bize F79 (R) e ¢

Assertion (A) : Stratigraphy is an absolute
dating method that studies
different strata or layers of the

[RFe (A) ¢ o7 el 25 @36 fNfigerps
IR ol I A GO

carth. ffen waule spze w41 201
Reason (R) : Artifacts found in the lower PFI(R) ¢ FTEwCa shea wa Al

strata are considered older than b wBel TwwE stent

the artifacts in the upper strata. TN S Ao |

In the context of the above statements, which of

the following is correct?

22.

Codes:
(A) (A) is correct, but (R) is incorrect.
(B) (A) is incorrect but (R) is correct.

(C) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(D) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

Given below are two statements, one is labelled

as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Processual archaeology focuses
on the cultural process and the
explanation of culture change.

G2 TEGETT (AT (PG FADF 2

(A) (A) 755, 5% (R) A5 o1 |

(B) (A) 7o 77, € (R) 735 |

(©) (A) ¢ (R) Torz A%, &8 (R)-6 (A)-7
A5 2t =7 |

(D) (A) 8 (R) Torz A, @R (A)-a37 7
17 2 (R) |

22. 90 46 Ie97 @R, 99 9 [/ (A) Be@
bize @ 925l bz #1739 (R) T

(e
R (A) ¢ efeaim ooy Agfos i e
o ARSI FC AN |

Reason (R) :Processual archaeologist FIF9(R) ¢ (AT Sepraicas i eI
embrace different theoretical Amfoufer wifgs (2ffFe ¢ oufr
perspectives and views of afgm sareifeal s
potential methodologies of B 2z a9 |

scientific inquiry.
In the context of the above statements, which of

the following is correct?

Codes:

(A) (A) is correct, but (R) is incorrect.

(B) (A) is incorrect, but (R) is correct.

(C) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(D) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

Trifaie seaeiE @fvse @Hb Afs 2
TS
(A) (A) 755, 5% (R) A5 7 |
(B) (A) < =171, 5@ (R) 7o |
(C) (A) 8 (R) Ter 7, 7€ (R)-B (A)-=
Ao gt =7 |
(D) (A) 8 (R) Tor3 A0S, @R (A)-47 70
415 241 (R) |



23. Match the items of List I with those of List II:

List I List I1
(a) The Raw and the (i) W.]J. Perry
Cooked
(b) The Children of the Sun (ii) Claude Levi-
Strauss

(c) The Tribe in Transition (iii) D. N. Majumdar
(d) Ancient Society (iv) L. H. Morgan

Codes:

@ () (o (d)
(A) ) @@ (Gv) (i)
B) » G G (@)
(©) @Gv) (@) (@) (i)
(D) Gy (@@ @G @Gv)

24. Which of the following(s) is/are correct about
the Kalelkar Commission?

(i) It was the first Backward Classes
Commission.

(ii) It was setup in 1958 under the chairmanship
of Kaka Kalelkar.

(iii) One of the Commission’s recommendations

was treating all men and women as a class as
‘backward’.

(iv) It adheres to Article 341 of the Constitution
of India.

Codes:

(A) (i) only

(B) (ii) only

(C) (1), (iii) and (iv)
(D) (1), (i) and (iii)

25. Which school of thoughtis known as ‘Moderate
Diffusionism’?
(A) American School of Diffusionism
(B) German School of Diffusionism
(C) British School of Diffusionism

(D) School of Neo-Evolutionism

X-9
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23. ©iferRp-l @3 X ORI (F (e ¢
©Iferer- ©Iferer-Il
(a) W3 SIS W T (i) ©ge. (@ (?If7
(b) m foeTegs =19 w Al (i) v @Ife-ZA
(c) SR TG (i) . @, sepmia
(d) @=IPTES EIRG (iv) 9&. @2b. TF97
(T
@ (b (© (d)
A) (i) @) Gv) (i)
B) 1) G Gi) o Gv)
©) Gv) i) (@) (i1)
(D) Gy (1) (@) @3v)

24, JIEAFE IHER @ww [ @ Iew Al
T 7w

(i) «fb fes 29w Smap ifd Fhme |
(i) TP FETHET ToHforg 1958 AE @b
Fifere 27 |
(iii) @2 IR ST A f2e, A T S
A (IOl SapT’ BT sid w4 |

(iv) SIF0ed FRLIE 341 419 7w a6 TFe
ot |

(T8

(A) (I (1)
(B) (<9I (ii)
(©) (i), (1i1) 8 (iv)
(D) (), (i) @ (iii)

25. et fefreafves e &= bl
fafow 2

(A) SRR IR TS
(B) Gl isie<iat oam
(C) 3o« anvi=aml Toam

(D) T fasain Toam
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26. The ‘Theory of Needs’ was put forth by
(A) A.R.Radcliffe- Brown
(B) B. Malinowski
(C) Edmund Leach
(D) Edward Sapir

27. The invention of ‘fire’, marks the stage of
(A) Lower Savagery
(B) Middle Savagery
(C) Upper Savagery
(D) Middle Barbarism

28. Who, among the following, is a prominent figure
in Feminist Anthropology?

(A) Margaret Mead
(B) Kirin Narayan

(C) Alice Cora Du Bois
(D) Kiriti Kapila

29. A social system by which the youngest child
inherits the property is known as

(A) Unigeniture
(B) Unogeniture
(C) Primogeniture

(D) Ultimogeniture

30. Match the items of List I with those of List II:
List I List 11
(a) Band Organization (1) Bantu
(b) Classical Segmentory Tribe (ii)) Pygmy
(c) Age Set (i11) Hopi
(d) Associational Tribe (iv) Ao
Codes:
@ (b)) (o (d)
A (1 @) @) (v)
B) ) @ (Gv) (i)
© Gi) (@ G  (Gv)
D) Gv) G) @ (iii)

X-10

26. ‘Refs o= e 931 a7l e
(A) Q. T3, IeiFE-are
(B) [. Witmerx
(C) 9T =ib
(D) GTSAS Aol

27. R SR @ At bz w@ o =
(A) 5 Tl
(B) WK <Rl
(C) T T#I<E]
(D) W&y 9425l

28. e @l e TR JReE 96w 45
&g ?

(A) Wsfizs e

(B) ffas =iz
(C) G @R I
(D) Ffe e

29. ANITEE @ GIER T TG Tifed Teifamia
2 OIS A

(A) TEERER
(B) BTGB
(C) @RGCeba
(D) SFGEIEEE

30. ©fFF- O3 A OfeE-ll (& I

©Iferer- eI
(a) W& ARSI (i) A%
(b) FORI oI Gl (i) foraifw
(c) 9% (6 (iii) @
(d) SO GRa (iv) e
(T

@ ® © @
A) @ G @) ()
B) ) @@ @Gv) (i)
© G @@ 3G Gv)
D) Gv) G) @ (i)



31. The ‘Leopard-skin Chief’ acts as an effective
mediator among the tribe of

(A) Nuer

(B) Ashanti

(C) Tiv

(D) Trobriand Islanders

32. Who defined religion as “Consisting of beliefs
and practices concerning supernatural being and
power— a unified system of Beliefs and Rituals.”?

(A) E.B. Tylor
(B) E. Durkheim
(C) B. Malinowski
(D) Clifford Geertz

33. What could be the pattern(s) in a multi-centric
authority system?

(i) People having segmented social structure

(ii) A tribe divided into villages and each village
functioning as an independent polity through
a constituted village council

(ii1) A society divided into various sets and each
setperforming traditionally allocated political
functions

Codes:

(A) (ii) only

(B) (ii) and (iii)
(©) (), (ii) and (iii)
(D) (iii) only

34. Who among the following is an affinal kin?
(A) Father’s younger brother
(B) Wife’s sister
(C) An adopted son
(D) One’s brother’s son

35. Ego-centred or kindred group is otherwise
known as

(A) Parallel Descent
(B) Double Descent
(C) Bilateral Descent
(D) Unilineal Descent

X-11
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31. @ SRS (MR W (@eNe B S
NFOIFIT G oAeT FCa 2
(A) TEE
(B) i
(C) oo
(D) @GERS At

32. (@ qOIE SR @ RER— “TfOARFE el @
G (7 T (I 8 SIBIC I — I € Wb Ieas
Gy 7 72

(A) 2 . ize=
(B) 2. LR

(©) . wifemetz
(D) e Ao

33, WS IOY I G0 F 20 AR ?
(i) fcefre wae woT |
(i) =T i Forul aiw fow; 2 am
@3f5 MAfFe ARPTeR SIRiE FATeE AT
Q|

(iii) et Fodeld oy [ow,; afcl e
o~ fa TSN S o PARE
PRINECRSIERIEEICEERIcRIEaICEEaRIRa]
AT S |

e
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36. Clans are
(A) Bilateral kin group
(B) Unilineal kin group
(C) Ambilineal kin group
(D) Parallel kin group

37. Which of the following sentence(s) is/are
characteristic features of unilineal kin group?

(i) They are temporary.
(i) They are self-perpetuating.
(iii) Providekin groupsinaclear and unambiguous
manner.

(iv) Deathofanindividual memberdoesn’tchange
the tenor of the group.

Codes:

(A) (ii) and (iii)

(B) (i) only

(C) (i), (iii) and (iv)
(D) (), (iii) and (iv)

38. Early hunting and food gathering societies
primarily exchanged women to—

(A) retain the wealth.

(B) try to keep peace and ensure social ties of
cooperation.

(C) to widen their social network.

(D) reduce their burden of maintaining the
population.

39. Who coined the term ‘Action Anthropology’?
(A) Sol Tax (1951)
(B) Edward Green (1945)
(C) James Clifton (1970)
(D) Roger Bastid (1973)

40. Who defined peasant society as, ‘Part of
society having part cultures’?

(A) Robert Redfield
(B) A. L. Kroeber
(C) Talcott Parsons
(D) Eric Wolf
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41. Whocoinedthe term ‘Linguistic Anthropology’?

(A) Ferdinand de Saussure
(B) C. Levi-Strauss

(C) Edward Sapir

(D) Dell Hymes

42. A group of people united for a specific purpose

on a limited number of purposes is called a
(A) Primary Group
(B) Association
(C) Secondary Group
(D) Corporate Group

43. Who authored the significant book ‘The Gender

of the Gift’?
(A) Sherry Ortner
(B) Ruth Behar
(C) Kirin Narayan
(D) Marilyn Strathern

44. Who is the author of the book
and Men’ (1935)?

(A) Zora Neale Hurston
(B) Renato Rosaldo
(C) Stephen Tyler

(D) Ward Goodenough

‘Mules

45. Sri Partasarati Svami temple was studied by
which of the anthropologists as a part of his/her

celebrated work?
(A) Kathleen Gough
(B) Arjun Appadurai
(C) Makhan Jha
(D) G. C. Morab

X-13

(F?

26-11

41. ‘oRIefes gRel wwiba Trarel (2

(A) ™ W T
(B) f. @fe-2m

(C) BTG Ao
(D) (s 22

42. (@ @FH AR AT Someey @fae 2
G GF o T

(A) 2l it
(B) Afife

(C) oMot ¢
(D) FAit=G cond

43. @3 wwgelf oy M (oror o] ey~ @13

(A) ifs o
(B) ¥¥ (2«

(C) =l =wr=rze
(D) @l Bt

44. TR =01 G (1935) 2BhH @1F (2

(A) (et et 26
(B) GIICS! @RS
(C) G5t Hizaa
(D) STC STETF

45. q AR 7N wFED @W gReEw ke
A8 TR T e 2

(A) Il o
(B) e iisR
(C) e i

(D) f& B (=R

[ Please Turn Over ]



26-11

46. Match the items of List I with those of List II:

List 1 List I1
(a) Age-set System (1) Shilluk
(b) Liniage System (i1) Masai
(c) Clanship (iii) Bedouin
(d) Traditional kingdom (iv) Tallensi
Codes:
@ () (o (d)
(A) (v) (1) (@) (D)
(B) (i) a1y (1) (iv)
© Gy @Gy Gv) @
D) () Gv) @G (i)

47. Which of the following describes, ‘areaction on
the part of a society or of a considerable number of its
members to a mode of behaviour which is thereby

approved or disapproved’?
(A) Social Sanction
(B) Social Interactionism
(C) Social Order
(D) Social System

48. Law may be considered as a
(A) Positive Sanction
(B) Customary Prohibition
(C) Negative Sanction
(D) Mana

49. Tsembaga Maring Society was studied by :

(A) Margaret Mead
(B) B. Malinowski
(C) Roy Rappaport
(D) Mayer Fortes

50. The book ‘The Great Transformation’ (1944)

was authored by
(A) V. Gordon Childe
(B) Marshall Sahlins
(C) Eric Wolf
(D) Karl Polany
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51. The ‘method of statistic documentation by
concrete evidence’ is better known to anthropologists
as

(A) Participant observation
(B) Survey

(C) Controlled Comparison
(D) Structured Observation

52. Given below are two statements, one is labelled
as Assertion (A) and the otheris labelled as Reason (R):
Assertion (A) : Due to the influence of
structural linguistics combined
withintensive fieldwork anovel
term called ‘New Ethnography’

emerged.

Reason (R)  : Forit,ethnography wasnomore
anuncontrolled narrative, butit
is a highly sophisticated and
controlled activity.

In the context of the above two statements,

which one of the following is correct?
Codes:
(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

53. ‘Fusion, Fission and Generalization factors are
responsible for the growth of totamic clans,” was a
concept suggested by

(A) D. N. Majumdar
(B) S.C.Roy

(C) Verrier Elwin
(D) E. Durkheim

54. Who proposed the phrase ‘Ritual avoidance’ or
‘Ritual prohibition’?
(A) A. Goldenweiser
(B) A.R. Radcliffe-Brown
(C) B. Malinowski
(D) E. Durkheim
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55. Who studied Indian Sadhus?
(A) S. C.Dube
(B) N. K. Bose
(©) G.S. Ghurye
(D) B. K. Roy Burman

56. ‘Potlatch’ is an example of
(A) Reciprocity
(B) Redistribution
(C) Market economy
(D) Trade

57. A shared standard of a social group to which
members are expected to conform is termed as

(A) Values
(B) Norm
(C) Law
(D) Custom

58. A movement in Western philosophy in which
the central thesis was verificationism. This theory of
knowledge asserted that only statements verifiable
through empirical observation are meaningful.

(A) Positivism
(B) Post-positivism
(C) Logical Positivism

(D) Interpretativism

59. The major research work in Anthropology
involving fieldwork among communities and resulting
in a descriptive report of a society at a particular point
of time is known as

(A) Structural Anthropology
(B) Data collection

(C) Survey

(D) Ethnography

60. Which of the sampling procedures gives each
item an equal probability of being selected?

(A) Systematic Sampling

(B) Simple Random Sampling
(C) Quota Sampling

(D) Stratified Sampling
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61. Match the items of List-I with those of List-II:
List-1 List-11
(a) Genealogical Method (i) G. P. Murdock
(b) Cross-cultural (i1) Bronislaw
Comparison Malinowski
(c) Participant Observation (iii) W. H. R. Rivers
(d) Extended-case Method (iv) A. L. Kroeber

Codes:

@ b © @
@ @ G (@) o Gv)
B) (i) @@ G (Gv)
© a) @) @  Gv)
D) Gv) @G (@) (@)

62. Name the country from which Homo floresiensis
fossil was discovered.

(A) Indonesia
(B) Italy
(C) Germany
(D) Spain

63. ‘An Essay on the Principle of Population” was
written by

(A) Robert Hooke
(B) James Hutton
(C) John Ray

(D) Thomas Malthus

64. Given below are two statements, one is labelled

as Assertion (A) and the otheris labelled as Reason (R):
Assertion (A) : Human height is a polygenic
trait.
Reason (R)  : Polygenic traits are influenced
by many genes with additive
effect.

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.
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65. Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Restriction enzymes are used
for cutting the DNA at specific
site.

Reason (R) : DNAligaseisuseful forligating

the DNA at specific site.
In the context of the above statements, which of
the following is correct?
Codes:
(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are incorrect.
(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

66. Given below are two statements, one is labelled
as Assertion (A) and the otheris labelled as Reason (R):
Assertion (A) : There is no skipping of
generations in autosomal

dominant traits.

Reason (R) : Autosomal dominant traits
manifest in both homozygous
as well as heterozygous
conditions.

In the context of the above statements, which of

the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.
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67. Given below are two statements one is labelled
as Assertion (A) and the otheris labelled as Reason (R):

Assertion (A) : Simian shelf is a bony
thickening on the front of the
ape mandible.

Reason (R)  : It is helpful in reinforcing the

jaw.

In the context of the above statements, which of
the following is correct?

Codes:
(A) (A) is correct, but (R) is incorrect.
(B) (A) is incorrect, but (R) is correct.

(C) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(D) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

68. Match the items of List-I with those of List-II:
List-1 List-11
(a) Genetic drift (i) Masatoshi Nei
(b) Genetic distance (i) Sewall Wright
(c) Eugenics @ii1) T. H. Morgan
(d) Genetic linkage (iv) Francis Galton
Codes:
@ (b)) (o (d)
A ®» G aGv) (@i
B) Gy (@ (Gv) (i)
© Gip (@ G (1)
D) Gv) @) @ @D

69. Match the items of Lisz-I with those of List-I1I:

List-1 List-11
(a) Australopithecus (i) Germany
bahrelghazali

(b) Ardipithecus ramidus
(c) Homo florensiensis

(i) Indonesia
(iii) Tchad
(d) Homo neanderthalensis (iv) Ethiopia

Codes:

@ (b)) (o (d)

(A) (v) (1) (i) ()

(B) (i) (v) (i) (1)

(©) () (a1 (@1v) (1)

D) G @ 3G - Gv)
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70. The most polymorphic antigens among humans
are of
(A) HL A System
(B) M N S System
(C) Lutheran blood group system
(D) Rh blood group system

71. Which plane divides the body into dorsal and
ventral regions?

(A) Transverse
(B) Axial

(C) Coronal
(D) Sagittal

72. In protein synthesis, where does translation
occur?

In the
(A) Cytoplasm, between Ribosomes, tRNA
and mRNA
(B) Nucleus, between Ribosomes, tRNA and
mRNA
(C) Nucleus, between DNA and mRNA
(D) Cytoplasm, between DNA and mRNA
73. Where is the xiphoid process located in human
skeleton?
(A) Humerus bone
(B) Temporal bone
(C) Sternum
(D) Sacrum
74. Given below are two statements, one is labelled
as Assertion (A) and the otheris labelled as Reason (R):
Assertion (A) : Birth weight of new borns in a
well defined range is a key
factor influencing the
probability of their survival.

: ‘Stabiliying natural selection’
is the type of selection that
maintains a certain phenotype
by selecting against deviations
from it.

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

Reason (R)
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75. Identify the correct sequence of landmarks on
mid-sagittal plane of the cranium starting from front to
back:

(i) Bregma

(i1)) Lambda

(iii) Glabella

(iv) Prosthion

(v) Nasion
Codes:
(A) (v), (i), (D), (1), (v)
B) (@), (iid), (i), (@v), (V)
(©) (), (1), (Av), (iiD), (v)
D) (@v), (v), (iid), (1), (i1)

76. Datacollection onthe same group of participants
at different time points is conducted in

(A) Case-control design
(B) Longitudinal design
(C) Survey method

(D) Cross-sectional design

77. Given below are two statements, one is labelled

as Assertion (A) and the otheris labelled as Reason (R):

Assertion (A) : Longitudinal studies are most

useful during infancy, early
childhood and adolescence.

: These are the periods of life

characterised by very rapid

growth and change.

Reason (R)

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation for (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation for (A).

(C) (A) is correct, but (R) is not correct.
(D) (A) is not correct, but (R) is correct.
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78. Which of the following pairs is not correctly
matched?

(A) A chart depicting genetic relationships
and transmission of inherited traits
is — Genealogy

(B) A female gamete is known as — Ovum

(C) Genetic drift — Sampling error

(D) Macro evolution — Speciation

79. Given below are two statements, one is labelled
as Assertion (A) and the otheris labelled as Reason (R):

Assertion (A) : Therate of growth is maximum
during the prenatal phase.

Reason (R) : The foetus gets high amount of

nutrition from the mother’s
body.
In the context of the above statements, which of
the following is correct?
Codes:
(A) Both (A) and (R) are correct, but (R) is not
the correct explanation for (A).
(B) Both (A) and (R) are correct, and (R) is the
correct explanation for (A).
(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

80. Genetic coding sequence is

(A) alength of DNA or RNA, the sequence of
which determines the amino acids in a
protein.

(B) a specific technique used to search for
exons in genomic clones

(C) aregion of the DNA molecules that lies 3’
to the point of reference.

(D) aregion of the DNA molecules that lies 5’
to the point of reference.
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81. Given below are two statements, one is labelled
as Assertion (A) and the otheris labelled as Reason (R):
Assertion (A) : Adolescent growth spurt is not
universal

Reason (R) : The adolescent growth spurt
varies within as well as between

groups.
In the context of the above statements, which of

the following is correct?

Codes :

(A) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(B) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(C) (A) is correct, but (R) is not correct.
(D) (A) is incorrect, but (R) is correct.

82. Given below are two statements, one is labelled
asAssertion (A) and the other is labelled as Reason (R).
Assertion (A) : In 1835, Lambart Adolphe
Quetelet published the first
statistically complete study of
the growth in height and weight
of children.

: He was the first researcher to
make use of the concept of
‘normal curve’ to describe
the distribution of growth
measurements.

Reason (R)

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is not correct.
(D) (A) is incorrect, but (R) is correct.

83. Which of the following is not correctly matched?
(A) Temporal Line — Parietal bone
(B) Calcaneous — Ankle
(C) Scaphoid — Wrist
(D) Zygion — Lower Jaw
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84. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : In 1889, Francis Galton
published the book ‘Natural
Inheritance’.

Reason (R) :In this book, Galton
demonstrated heritability of
stature and other physical traits.

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) Both (A) and (R) are correct.

(D) (A) is correct, but (R) is incorrect.

85. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R):

Assertion (A) :J. M. Tanner provided the

concept of “Tempo of Growth’.

Reason (R)  : Theconcepthelpstounderstand

the difference between early

and late maturing individuals.

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

X-24

84. e ulb Te9y TR, 97 9! {9/ (A) BEIE
fofers, wisift Bfere w179 (R) RETE 2
RIS (A) ¢ 1889 HieT FFP &G Bl
2RO J2M 2 |
P79 (R) ¢ 3 I3CO SI6 MRS ThHO! @
Ty € AT eewiiEg
RRGREG @ |
TEIE IEE@IA (2fFFce @I AT 2
(TS
(A) (A) € (R) To@z A%, @R (A)-7 7=
77T 2 (R) |
(B) (A) € (R) Torz ARs, 58 (4)-7 7=
I (R) T M1
(C) (A) 8 (R) TorER 7% |
(D) (A) A=, g (R) Af3s 77|

85. fex b <& a0y, 99 @1 [0 (A) BT
e, w7kl e 79 (R) BRI ¢
[Ro (A) ¢ (& @ BN “Grenl o (e -«
4i2e(1fo e |
F1F9 (R) ¢ @2 4=l =ifef @ &7 syipea=ia =7
G TG 0 214 AT AR
FE|

ARG IS@T (2fFF0e @A AT 2

(FIo8

(A) (A) @3 (R) Tor 7, @t (A)-3 AT
[ @@ (R) |

(B) (A) €3k (R) Terz Ao, 5@ (A)-7 7w
R @@ A (R) |

(©) (A) 7w, &€ (R) AT 73 |

(D) (A) < 77, @ (R) 7=



X-25

86. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R):

Assertion (A) : B. S. Guha authored the book
‘Aboriginal Races of India’.

: The main aim of this book was
to assess the ethnic position of
the aboriginal tribes of India.

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

Reason (R)

87. ‘Polymerase Chain Reaction’ (PCR) makes
copies of the DNA sequence through the following
processes.” Which of the following sequences is correct?

(A) Flanking of a particular DNA region with
primers, denaturing the DNA and
annealing to the target sequence.

(B) Denaturing of the DNA, flanking of a
particular DNA region with primers and
annealing to the target sequence.

(C) Annealing of the target sequence of DNA,
flanking of a particular DNA region with
primers and the denaturing of DNA.

(D) Flanking of a particular DNA region with
primers, annealing of the target sequence
and denaturing of DNA.

26-11
86. fcx it T @R, 97 9 Bz [Fe (A)
TR, weal 9179 (R) 2ot Bfzs ¢
R (A) & .91 @ SyRfEiem @Er oY
2o 2 @ |
FI79(R) ¢ @2 367 T Ty fom1 oRced
erRREEE SiWamE @2
=g AL 4 |
TEIE IGE@IA (2fFFce @I A 2
(T
(A) (A) @R (R) To@2 AlGF, 93 (A)-7 A
7T 2 (R) |
(B) (A) €2 (R) Terz 7, @ (A)-7 75w
R T (R) |
(©) (A) 7o, 758 (R) A 71 |
(D) (A) A= 77, 58 (R) AT |

87. ‘ARTIES (5w TRy’ (PCR) DNA #ifasfe
Afsferiol tofd s Fwie afFnefles aa e @
et Al 2

(A) 2iZWF 7 DNA-9 8 wiseas ifas
341, DNA-3 fenift 51, a7 o
iR 1 |

(B) DNA-3 fSr=ifas &2, &izwia @<t DNA-F
e weets iR w1, o5 AR
iR 1 |

(C) DNA-T &7 “fiaee snifafer w41, 2z
7l DNA-9 @18 st @i <4,
DNA-3 fS51Re 341 |

(D) &iEs =it DNA-3 s Sieets i
341, DNA-F 7% “/Fae onifafae <,
DNA-T fS51Re 41 |

[ Please Turn Over ]



26-11

88. Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R):

Assertion (A) : Non-coding DNA makes up the
target portion of human
genome.

: A non-coding DNA exhibits
greater variation and are
considered to be selectively
neutral.

Reason (R)

In the context of the above statements, which of
the following is correct?

Codes:
(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

89. Match the items of Lisz-I with those of List-II:
List-1 List-11
(a) W.C. Boyd (1) The Genetics of
Human Population

(b) F. Boas (i1) Genetics of Races
and Man: Introduction
to Modern Physical
Anthropology

(c) Cavalli Sforja
and W. F. Bodmar

(d) D. S. Falconer

(ii1) Introduction to
Quantitative Genetics

(iv) Changes in the Bodily
Form of Descendants
of Immigrants

Codes:
@ (b)) (o (d)

(A) Gv) (i) (i) (1)

B) () @) @) (iv)

© ®» Gv) (@) (1D

(D) () @av) @) (ii1)

90. Which of the following pairs is not correctly

matched?

(A) Orrorin — Kenya

(B) Ardipithecus — Ethiopia
(C) Ankarapithecus — Turkey
(D) Oereopithecus — Germany
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91. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R):

Assertion (A) :J. M. Tanner demolished the
fixed concept of race and
thereby the position of
eugeneticists from his studies
on the growth of immigrant
children of USA.

: The study on the immigrant
children of USA proved that
the process of growth and
development is a response to
environmental change.

Reason (R)

In the context of the above statements, which of
the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not
the correct explanation of (A).

(C) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

92. If one plans to collect data to estimate the
complete fertility of acommunity, then the dataneed to
be collected from

(A) household head.

(B) married women, aged 45 years and above.

(C) all married women.

(D) all married women and unmarried women
aged between 15 and 45 years.

93. Which of the following options is not directly
related to ‘Informed Consent’?

(A) A voluntary agreement to participate in
research by the study participants

(B) A form not merely signed by the study
participants, but is a process in which the
understanding of the research and the risk
stated

(C) Essential before enrolling a participant in
the study

(D) To establish a rapport before fieldwork
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94. In a positively skewed distribution

(A) the value of mean is greater than median
and mode.

(B) the value of mean is lesser than median
and mode.

(C) the value of median is lesser than mean
and mode.

(D) the value of mode is greater than mean and
median.

95. Who authored the book ‘Ancient Races of the
Deccan’?

(A) Iravati Karve
(B) S.S. Sarkar
(C) K. C. Malhotra
(D) H.D. Sankalia

96. ‘The main-line formula’ serves as an indication
of

(A) the height of the palmer ridges.
(B) the density of the palmer ridges.
(C) the direction of palmar ridges.
(D) Main-line index.

97. Which of the skeletal parts of an adult skeleton
would be the best to identify the sex of an individual?

(A) Skull
(B) Pelvis
(C) Upper extremity
(D) Femur

98. ‘A researcher wishes to study the attitude of
people of different age groups of a population towards
smoking.’— What would be the appropriate sampling
technique in this research?

(A) Simple random sampling
(B) Stratified random sampling
(C) Convinient sampling

(D) Systematic sampling
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99. Who among the following scholars included 99, g @R 4T (AG-SFEARTC GBI
Proto-Australoid racial element in the classification of RS (@ REIGE (i TGS FARE ?

Indian population?

(A) H. H. Risley (A) . . FPTCT
(B) S.S. Sarkar (B) &Pt . ISR
(C) A.C.Haddon (©) «. 1. Zrew
(D) B.S. Guha (D) f3. @7, wz

100. Which of the two carpal bones remain articulated 100. g @9 1o FeiE oifz @feam sifgg e
with the radius bone? TRIE ANF?

(A) Scaphoid and Pisiform (A) HIFET g S5l
(B) Lunate and Pisiform

) (B) G5 @3k foAfrmsl
(C) Lunate and Trapezium

(D) Lunate and Scaphoid (© I R Gififer
(D) 0 G HTEG
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